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General Instructions :
Read the following instructions carefully and follow them :

(1)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

This question paper contains 6 Short Answer Type-II questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

Attempt all parts of a question together.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

Read the following statements — Assertion (A) and Reason (R). Choose the
correct alternative given below : 1

Assertion (A) : Full employment situation refers to absence of
involuntary unemployment.

Reason (R): Under full employment situation, all the willing and able
bodied people get employment at the prevailing wage rate.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

11-58/1/2 P.T..
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| CIfocd]
2. “fear 9 S 2023 %, TWHA Wi TFEES (NSE) % il & AR, Th A8
i afy a4, 9 W8 2023 - 9 S 2023, H et €AW fHewmpl (FII) g

T 309 S h g forshl 1 T8 ot 1”7
ST TH-¢T WA % YA Hged @ ued | gqul R

I | (fh Tl 1 W3 & fou ot fasheq &1 =@ hifse) 1
(A) =, sfe (B) i@ﬁ, shfge
(C) =, shise (D) s, efere

3. fmfcifead ¥ & qg1 omqfd (M) 1 sr@ew Tomivar/foeivaneti i 9ga™ hifse . 1
(i) U @HT % T forg o HTHT S0AT R
(i) 399 ¥R o Y19 W U g9-9ER ol FFIfId T8i fohaT STTar 3 |
(iii) I8 Fd TS o hrold Sioh o ITE T 5T BT 3 |

oy -
A) () IR (i) B) (i) 3 (i)
(C) e (i) (D)  ad (iii)
4. I % IER O &F G [RAT AT HA ITHT =T E]
T TASH 7 | (Tk Tl sl WA & fou @) fashew &1 =@ difve) 1

(A) TR U9, W oW
(B) T&mad o, df@ 39
(C) e e, @ e
(D) & 39T, SR 39

5. T 3ATehsl shl TgaH hifelT d Tgl faehed i =TI hITT 1
TH | TH | I (80%) STRIET 37T
(20%)
I 5000 4000 (1)..
II 4000 ..(11).. 800
A | (D). (Giv).. 5000
ICET

(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000

11-58/1/2
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2. “As per the National Stock Exchange (NSE) data, dated 9th June, 2023,
there was a mnet selling off worth < 309 crore by Foreign
Institutional Investors (FIIs) over the period of one month i.e.,
9th May, 2023 — 9t June, 2023.”
The above mentioned transactions will be recorded on
account of Balance of Payments of India.
(Choose the correct alternative to fill in the blanks) 1

_ side of

(A)  Debit, Current (B) Credit, Capital
(C)  Credit, Current (D) Debit, Capital

3. Identify the incorrect feature(s) of money supply (M) from the
following : 1
(1) It is measured at a point of time.

(ii) It does not include stock of money held by the government.
(i) It is always the currency in the hands of the Central Bank of a

nation.
Alternatives :
(A) (1) and (i1) (B) (i1) and (iii)
(C) (i) only (D) (ii1) only
4, Total consumption expenditure by households under Keynesian Economics

and .
(Choose the correct alternative to fill in the blanks) 1
(A)  Autonomous Consumption, Autonomous Investments
(B)  Autonomous Investments, Induced Consumption
(C) Induced Investments, Autonomous Investments
(D)  Autonomous Consumption, Induced Consumption

1s a combination of

(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000

11-58/1/2

5. Find the missing figures and choose the correct alternative : 1
Round Deposits Loans (80%) | Reserve Ratio
(20%)
I 5000 4000 ().
II 4000 (). 800
Total .(iii).. (). 5000
Alternatives :

P.T.O.
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6. YW dqe (BOP) H 31 o1 arcad i ferhar 9 7 |

(feh M =1 w1 & foTe =&t fasheq &1 =m fifse) 1
(A) T NAd T E&RE YA
(B) &R WIeqal W TS @I PTaH
(C) Ysft @rar YA W et @rar st
(D) A YaH W &R Jia

7.  TorHl wreufdes sreegaee & fou 79 <fifSe s .
C =100 + 0-75Y (S&T C =399 9 Y = 31¥)

Iy = 400 (I, = @ )
a9 ek (K) 1 94 g |
(Teh o &1 WA & fore @) fasew &1 =3w Fifs) 1
(A) 5 (B) 4
(C) 6 (D) 3

8. UM WU b, UH Hedh ALTIEAT Hl AMRK Fge T 500 HUS H
TR FgaH Uil 8 | WTa i o1 Jed T 1200 HUS 9 A PTaE
T 400 FS 7 |
ST (Merchandise) 3T &l oo T HUS BT |
(T=h T &t WA & foe ot fashew &1 =9m Hifw) 1

(A) 1700
(B) 750
(C) 700
(D) 900
9. Trffad el 1 eIHYEs A HIT - 1

FHo 1 : Al foret srdfegawen ®, 33 & TR ¥ gfg (AY) Bt 7, @ T8 IUHIM
% T (AC) H Ted 3TUThash &9 A ghg T ht |

Y72 : HHG 99T TG (MPC) d HI9d s=d T (MPS) Hed Th-gal
& ST Bt & |

feu T At & 3T H, Fefdiad § 9 wEt fosheq o1 wEe i

(A) YT 15T 8 3 HIH 2 370 8 |

B) T 13T 2 AN FAT 2T B |

(C) AT 1R 2T AA 7 |

(D) YA 13 231 3T B |
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[OF Y]
Surplus in Balance of Payments (BOP) refers to the excess of
(Choose the correct alternative to fill in the blank) 1

(A)  Autonomous payments over Autonomous receipts

(B)  Current Account payments over Autonomous receipts
(C)  Capital Account receipts over Capital Account payments
(D)  Autonomous receipts over Autonomous payments

Suppose for a hypothetical economy :
C=100+0-75Y (where C = Consumption and Y = Income)
Iy =400 (I = Autonomous Investment)

Value of Investment Multiplier (K) would be
(Choose the correct alternative to ﬁll in the blank) 1

(A 5 (B) 4

(C) 6 (D) 3

Suppose, the Balance of Trade of an imaginary economy shows a
favourable balance of ¥ 500 crore. The values of merchandise exports are

T 1200 crore and transfer payments are ¥ 400 crore.

The value of merchandise imports would be ¥ crore.
(Choose the correct alternative to fill in the blank) 1
(A) 1700
(B) 750
(C) 1700
(D) 900
Read the following statements carefully : 1

Statement 1 : If in an economy the level of income increases (AY), it will
always proportionately increase the level of consumption
(AC).

Statement 2 : Marginal Propensity to Consume (MPC) and Marginal
Propensity to Save (MPS) are always equal to each other.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

11-58/1/2 P.T..
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10. Tr=fafea 9 9 o g 6 yg=m hiflw 1

(A) GDPMP = NNPFC + W

(B) NDPpc = NNPpg + YIg 3T0cIT

(C) GNPpyp = GDPyp + fIcsli & UTea g A1eA 1™

(D) NNPpg = NDPyp + qea8M@

11. (%) TH FouHs Adegazen & fau fi=9 fou mu afest & snar W, @red

AT W I TRl 37UTE (NDPpe) % o3 1 TTHH MY 3
. , Tt
e "é (v 775 9
(i) Heho B Fml it i 300
(ii) RIS 70
(iii) | TR IUHIT = 400
(iv) | womh ot 1 3uwm 50
(v) T o] 3TH = 590
(vi) AR (Inventory) e (-) 60

(Ts)
(vii) S IR 80
(vii) | g ST W 50
(ix) foewt @ ured g FRSH A 40
COE|

(@) () 39IH 3CTEW ol TEEAT § SMRIATSTT hi STFUNN T JUIH hIToIT, | 2
(i) TETeH AR i qReTiNd i | 1

12. foor fRiffma ot gomelt qon = fafama o yormelt & 7ew S1ar Tose i | 3
11-88/1/2
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10. Identify the correct equation from the following : 1

(A) GDPyp = NNPpc + Depreciation

(B) NDPpc = NNPpce + Net Indirect Taxes

(C) GNPpyp = GDPyp + Net Factor Income from Abroad
(D) NNPpc = NDPyp + Depreciation

11. (a) On the basis of the data given below for an imaginary economy,
estimate the value of Net Domestic Product at Factor Cost

(NDPge) : 3
S. No. Items Amount
(in < crore)
(i) Gross Domestic Fixed Capital Formation 300
(i1) Exports 70
(iii) Government Final Consumption 400
Expenditure
(iv) Consumption of Fixed Capital 50
(v) Household Final Consumption Expenditure 590
(vi) Inventory Investment (Net) (=) 60
(vii) Imports 80
(viii) Net Indirect Taxes 50
(ix) Net Factor Income from Abroad 40
OR
(b) () Elaborate the concept of Externalities with the help of
suitable example. 2
(ii)  Define Operating Surplus. 1

12. Distinguish between fixed exchange rate system and flexible exchange
rate system. 3

11-58/1/2 P.T..



13. T 8 T 2023 & T SHHITS IEH ¥ 3I¢Yd MHIRad T 1 MY

EiE
A

P <IN ;

“arta T d9 (RBI) <A <X fafor afufa 3 o w9 9 Swwrh o1 <@ i
6-5% W IfEfdd W 1 v fo=m g | afafa 3 gumee Aifts ifa
(Accommodating Monetary Policy) H IYE A W &IH Higd H & U

e frar g 1
few T 9 g wvE & emuR W Aefafaa e % s difve

()
(@)

14. ()

(@)

STIE T H guIT T ATfde ge ! e 9 9=t
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o

o
IS

afy z Pt @il 3 3% @ & 0 B A, @ g s die
gftoa <1 ==t Hifs |
ffcTiad dTicteht ohl QU hIMT | 3 3 T 200 HUS &R T YA
Ho ol T i |
37 (Y) T 37T ITHIT &igra gaqd
(THISH) | (THSH) | 3ght (APC) ¥ (MPS)
0 (=) 30 - -
100 | e 1T |
200 | e 085 | e,
300 | e 08 | e,
FT

“Topelt SrelezraTen |, JeaTfra wHY Y, TG aHu AT HA 7 |7

3UTe, T F USTR o T W 39k TG hl IR I |

15. f=faRaa oMl =1 S qel g0 gHIivE I

(%) Torelt arefeuawen ®, oH-gq weel sew & forw, qgr fafma & mew’ &

9 H S w2 |

(@) foreht srefcawen § g deh, Sohi o b o &9 H 1 T 8 |
Page 10
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13. Read the following text carefully from ‘The Economic Times’ dated
8th June, 2023 :

“The Reserve Bank of India’s (RBI’s) rate setting panel unanimously
decided to keep the benchmark lending rate unchanged at 6:5%. The
committee voted to remain focused on the withdrawal of accommodating
monetary policy.”

On the basis of given text and common understanding, answer the
following questions :

(a) Identify and discuss the economic issue indicated in the above text. 2

(b)  Discuss the likely consequence on money supply if the rate setting

panel would have decreased the said rate. 2
14. (a) Complete the following table. Construct/Express the Consumption
function at ¥ 200 crore level of income. 4
Income (Y) Savings Average Propensity | Marginal Propensity
(in Tcrore) | (in Tcrore) | to Consume (APC) to Save (MPS)
0 (=) 30 — _
100 | ... 3
200 | .l 08 |
300 | .. 08 |
OR
(b) “In an economy, ex-ante Aggregate Supply is less than ex-ante
Aggregate Demand.”
Explain its impact on the level of output, income and employment. 4
15. Justify the following statements with valid arguments :
(a) Money serves as the ‘medium of exchange’ for transactional
purposes in an economy. 2
(b)  The Central Bank acts as Banker’s Bank in an economy. 2
11-58/1/2 Page 11 P.T.O.
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16. (%) () = U T AR H LAFIES I hivT IR FHAfIRad W/ F&RT
= B Jeld w91 ol faveryor Shifdw

(I) N 3R gag Tidafaiemt 2
ID) IaE ‘ 2
T T R Rl S (& TG F3)
5.50 1 2021-22 -
Z-gg: [ T/ == (RE) 2022-23 _
ppesl Il s5c =3 (BE) 2023-24 5 %
3.50 - %
3.00 - XK Z
2.50 - o O
| c o=l o
2.00 . 0w ¥ 2 E % %
ez rmemll IR
amtaes el faem w@wew fren PR TEg  umfu AT
el nfafafeat IEETC
(F) Gi) ‘o ER’ 9 wfte '’ & i fw T FifV | 2
rora
(@) fmfcIRaa i TSEa Iai 12T Yoia Tt H aiffehd shiforg | 39
I 9P T 9 doh ST
(i) R W YTH AN | ‘ 2
i) T Tt ot <Y fosht @ farfvas wfeaat | 2
(i) WA ¥ STfciehl &M hl AicdTed i o ToTC GI® TsT STHIER
(USA) 9%hR giT & 718 foefia wgmman | 2

Fig: HEICTRET 397 e GRETIEAT GOeTdar & o/ 397 G897 16 &(i) F €97 T
g1

LN T9le & R o i = il | 4
17. (%) Th fg-85 wied § 3T % =hid TaTg ! TGUROT 6 689 o sared
$||\3Q| 3

(@) “Hifgh Heohel WS 3G (GDP) i JaT H ITEdicsh Hehel =Xq] 391G
(GDP) Terelt Trsg hl 3TTieleh Haf.g o1 98k Hohash g |7
FI1 A9 ST T o & TgHA & ? Tohdll 99 Hicui-ih T&IATHS IGTEW
% 1Y AU IT HI gfee Hifre | 3

11-58/1/2 Page 12
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16. (a) () Study the following chart carefully and analyse the changing
trends in the government expenditure on :
(I)  Agriculture and Allied Activities 2
(II) Transport 2
TREND OF MAJOR ITEMS OF EXPENDITURE
(¥ lakh crore)
C=-
5.50 1 2021-22 !
2.0 [ Revenue Expenditure (RE) 2022-23
1 o
80 Jll Budget Expenditure (BE) 2023-24 o
4.00 A o~
3.50 1 g
7%
3.00 > 28 %
2.50 1 RECRN %
2.00 - % o I
= sn I8 %
1.50 1 Shw ¥T=2 o™ _ / /
NN L ELEREEY 1 |
10015 ¥ 2 p7c g S S / / /
ol Crm el B
izl N 4 Al 7 M 7)
' Social Welfare Urban Health Education  Agriculture and Rural Transport
Development Allied Activities Development
(a) (i) Distinguish between ‘Revenue deficit’ and ‘Primary deficit’. 2
OR
(b)  Classify the following as Revenue receipts or Capital receipts. Give
valid arguments in support of your answer :
(i)  Interest received on loan. 2

(i1) Disinvestment receipts from the sale of a government company. 2
(iii) Financial assistance by the Government of USA for promoting

girl education in India.

Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 16 a(i).
Explain the stabilisation function of the Government Budget.

17. (a)
(b)

11-58/1/2

Discuss briefly the concept of circular flow of income in a two-sector

model.

“Real Gross Domestic Product (GDP) is a better indicator of
economic growth of a nation as compared to the Nominal Gross

Domestic Product (GDP).”

Do you agree with the given statement ? Justify your answer with

a valid hypothetical numerical example.

Page 13
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Que @
WA 3Tfeien fererma
T oMl &1 SAHYde® T HINT : 1
FY7 1 : NGRS AT & Adid, Ui T=AT (I8 &d, S 9 dr
aftfe) 1 foepra femam TR e |
FYT2 : WG H AUk =T o foIohm@ o N8 arafaes 323 fsafew faai =1

gge BT T |
feu U oMl % A H, Hfaiad # 8 wE) faeed w1 =e hifv
(A) YT 1TT 8 3 HIH 2 3TH 8 |
B) T 13ITT 2 AN FA 2T B |
(C) AT 13IM2TM T3 |
(D) A 13 23T 3T 7 |

qgaH hifeg fob Ffcifgd 5 & sH-81 fasheq, Y fauom yoret &+ @
Teehi o I hl A @ 1
(A) TIISH, YSROT, TEEHTUT, YehfonT

(B)  3cUTed, HIISH, JEEhR, UfEm

(C)  GASH, TR, Yehion, TiEs

(D) &R, Yehfort, dfem, faawo

Frafafga wei = gfen - Afiwem (A) 3R %R (R) | = feu Tu faspedt @

ﬁaﬁﬁwgﬁq 1

37YFYT (A) : TIva AR T (WTO) & I8 Ul bl St & foh 98 e
TS g MY, U TehalWhl 9T I Ufqeel & =+ & foie
Frm_enenfa s sgazen wefig |

HRU(R) :  THE &V ok HY-E1Y, Tovd Icqed H glg w1 9 dfveh
TETEAT <1 $qH IUANT FHTTaa e e 7 |

ICEXZ IR

(A) 3R (A) 3R HROT (R) SHT TcF & 3 RO (R), AMTHAT (A) Hi
g AT 7 |

(B) 3T (A) 3T HRUT (R) T T 8, Afehd ST (R), AMMRAT (A)
T8l AT TET 2 |

(C) 3P (A) TT =, Wohd R (R) AT 7 |

(D) AR (A) 3TEH 3, ok SR (R) T 3 |

11-58/1/2 Page 14
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SECTION B
Indian Economic Development

Read the following statements carefully :

Statement 1 : Under the colonial rule, basic infrastructure (like
railways, post and telegraph etc.) was developed.

Statement 2 : 'The real motive behind the infrastructural development
in India was to strengthen the British interests.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

Identify which of the following alternatives indicate the incorrect
components combination of Agriculture Marketing System :

(A) Assembling, Storage, Processing, Packaging

(B)  Production, Assembling, Processing, Grading

(C) Assembling, Processing, Packaging, Transportation
(D)  Processing, Packaging, Grading, Distribution

Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below :

Assertion (A) : World Trade Organization (WTO) is expected to establish
the rule-based trading regime, to avoid unilaterally placed
arbitrary restrictions by member nations.

Reason (R) : It is imperative to enlarge world production and ensure
optimum utilization of world resources along with
environmental protection.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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| e
fafafga el st ufgu - 1fieRed (A) 3 s (R) | =9 few o faemedt d
o Tgt fashed Ffw - 1
SfYHYT (A) : T T IS IRt & fou Afafers g 9 nfdes e
3T T o AT ISR a3 T ST foham B |

FHRI (R) : ORI ¢RI HMINIeh STYeh =T o fAmior 3 <9 d 9M9
fIerTg Gehdenl § HehNIcHh giuny feu 2 |

IEETR I

(A) AR (A) 3T SR (R) ST TcT & 3T SR (R), 31f4ped (A)
& ST 7 |

(B)  31fheM (A) 3R ST (R) SHT T B, Wfehd ROl (R), AMHH (A) I
&l ST Tg7 ® |

(C) IR (A) TcT 7, Wohd ST (R) 7T 7 |

(D)  AMHHAT (A) 3TEH 7, k] RO (R) T 3 |

FfciRad foredl @ 9, fafafia i 919 o o/@ew 32991 6l Tea™ hive @ 1

(i) I HI I 3G T FaraH oI feaa & e fauom yorett i
HIA d JHTET SHHT |

(i) I < T foque FHETE B= § IR I galcanzd & |

(iii)  SHIERI ST SATHOT THAT |

(iv) hEehi i ITeh! 3T ohl TUETT g HET H IR i o faQ galcaniad

EZCIN
ICET
A) @) 3 Gi) B) @) I (ii)
(C) (i) 3N (iv) (D) (i) 3 [v)
YA 9 UIhEd™ H ShHST: E| aul H AT FUR AT
fPu MU g |

(Th Tl & W & T @&l fasheq &1 =@ difve) 1

(A) 1988, 1978 (B) 1991, 1978
(C) 1991, 1988 (D) 1981, 1991
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Read the following statements — Assertion (A) and Reason (R). Choose

the correct alternative given below : 1

Assertion (A) : China has wused the market mechanism to create
additional social and economic opportunities for its
citizens.

Reason (R):  Social infrastructure creation by the government has
brought positive results in human development indicators
in China.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

Identify from the following alternatives the imcorrect objectives of
regulated agriculture market : 1

(1) To make the marketing system efficient and effective for farmers
to get best price of their products.

(i1)) To discourage improvement of marketing infrastructure for
farmers.

(iii) To prevent exploitation of farmers.

(iv) To discourage farmers from improving quality and quantity of
their produce.

Alternatives :
(A) (i) and (i1) (B) () and (iii)
(C) (ii1) and (iv) (D) (i) and (v)

Economic reforms were introduced in India and Pakistan in the years

and , respectively.
(Choose the correct alternative to fill in the blanks) 1
(A) 1988, 1978 (B) 1991, 1978
(C) 1991, 1988 (D) 1981, 1991
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24, TARIREGT AT 1 LIS FTF HINT 1

FY7 1 : T Ufdest GAI0 TS (NSSO) 5 SUSHTRY &1 36 JehR aRTiyd
fopan 2 T o8 9 sraen B, T =afts &m & v/ & SHror fom
T o & I & dihd o THTad FpisTl & W <l 9 = &
8 | d %W IR gl & Aiser feufadi % dgd M S 6l
TS /IYSASHAT I A & |

FYT2 : ARG 0 ATTh AEE Il TS T I=05d ISR AR T
U 7 |

feu T At & STt H, Fefafad § @ Tt e 1 = Hifv
(A) HIT 1T g 3 HIT 2 370 8 |

(B) HIT 1T AN FIT2TT ¢ |

(C) YT 13 2T TcT % |

(D) A 13 2T 3 7 |

25. YgaM i o fm=foafaa & @ 991 G-20 1 9 Y 787 2 - 1
(A) A
(B)  Ateeforan
(C) ST
(D) IS

26. ffifaa HeAi @t afen - AR (A) 3R HRU (R) | = few Tu foashedi |
T Tt fashew giw 1
STFeT (A) : e AEH T o A faf=m= 4 $8 st »af
wfaeaell g9 & Tek feam o |
FRU(R) :  TASh & 3 3IcuTg TorEn iR AR Ufaeagichehdr § gUR &
T ATGHE ITed i H St ART F&ig i off |

ooy

(A)  AMHA (A) W SR (R) GHI T & 3T BRI (R), AHHeH (A) H
g ST 7 |

(B) 3T (A) 3R RO (R) ST TcT 8, Afehd R0l (R), MR (A) h
TE! AT TET 2 |

(C) 3P (A) TT =, Wohd R (R) AT 7 |

(D) 3R (A) 3T 8, Afehd HRUT (R) HF 2 |
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Read the following statements carefully :

Statement 1 : As per the National Sample Survey Organization (NSSO),
unemployment is a situation in which all those who,
owing to lack of work, are not working, but are seeking
work from prospective employers. They express their
willingness/availability to work under the prevailing
conditions of work and remuneration.

Statement 2 : Disguised Unemployment is generally a massive problem
in a highly populated country like India.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

Identify which of the following is not a member nation of G20 :
(A) Brazil

(B) Australia

(C) Bangladesh

(D) Argentina

Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below :

Assertion (A) : The excessive regulation of permit license raj prevented
certain private firms from becoming fairly competitive.

Reason (R):  Private sector wasted huge amounts in obtaining licenses
rather than on improving the product quality and
international competitiveness.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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27. 1970 < <k H, YTiehEq 4 3794 T T USETRLoT foharm o |
(f=h Tom =1 WA & fore @&t fasheq 1 == Hifsmo) 1

(A) Tafrcan smuries wt=mT gadt
(B)  3UNMIHI J&ga3Ti daeh

(C) USthTd aqaeti wett

(D) faceht =M

28. “9ra #, Ted fram Hifa 2020 7 frerepi & damRRia TftEw | e Id@
ﬁ_q_l.%l”

(i) 39U SeH H 3@ AHa S FEi0 (HCF) % @i hl 989 it | 1
(i) WG & A1 I W 39 |id & gurfag g9TEl bl fodr @ s
$||\3Q | 2

29. (%) 3 SO o fowr & wae SAe wror 5 &3 & ofenfie Aifa
Gehed, 1956 o dgd faf-afad fopam mam o | 3

HAAAT

(@) “sfrafafimes we % o S &7 3 forar (vfadaa) et 7 of 7
F7 379 feU U HYH § TEHT @ ? 9Y dehl gl A9 ST 1 Iy fug
T | 3
11-58/1/2
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27. In the decade of the 1970s, Pakistan nationalized its industries.

(Choose the correct alternative to fill in the blank) 1
(A)  Medical infrastructure
(B) Consumer goods
(C) Capital goods

(D)  Foreign trade

28. “In India, National Education Policy 2020 has stressed a lot on in-service

training of the teachers.”

(1) Identify the source of Human Capital Formation (HCF) indicated

in the aforesaid statement. 1

(ii)  Elaborate the likely impacts of this source on the economic

development of India. 2

29. (a) Elaborate the reasons owing to which the private sector was

regulated under the Industrial Policy Resolution, 1956. 3
OR

(b)  “During the colonial period the agricultural sector showed massive

stagnation.”

Do you agree with the given statement ? Justify your answer with

valid arguments. 3

11-58/1/2 Page 21 P.T.O.



30. (&)
(@)
31. (=)
(@)
11-58/1/2

o

“OFh TS % oAU T GG WU o [IWT H A Hehd TG B TR
T 3T 2023 & HE § IH bl 10 D, fovd &1 g9 3fues

STEET Tl TS o T 8 17

= gRT 1970 & T3k T ITUATS TS TehA-aTcdeh HIfd o TROTHAT <hl AT
HIT |

< 1 i Tghg W R SRiE 8 (SEZ) % werel 1 == ik |

Y TRl g Ioai@ o TN shifore for Amaferfaa sem gry 2 @1 sra

(1)

(i1)

(1)

(i1)

A H, AR 9hR 4 o q@meql & HIean e o fag
SH-99 AT SIH s HEwaUl heH 33T 3 |

yfteh — SHEE FUTd fopelt U ° TR i feufa w1 fagetyor
A o T ST fopan ST SITedT Weh Eohdeh @ |

AT

URd U AfgT o sl YicdTad i <hl STTa9Iehdl <hl SIS
SHifT |

R sEEnRt T § fafaefientor iafale™t o fohmal al el
T I ShINT |

Page 22
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31. (a)
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“United Nations Department of Economic and Social Affairs
indicated that India has overtaken China as the world’s most
populous country in the month of April 2023.”

Explain the consequences of one-child policy adopted by China in
the 1970s. 2

Discuss the impacts of Special Economic Zones (SEZs) on the

economic growth of China. 2

State and elaborate whether the following statements are true or

false, with valid arguments :

(1) In the recent past, the Government of India has taken
crucial steps, like Jan-Dhan Yojana, for efficient allocation

of financial resources. 2

(i)  Worker — population ratio is an indicator, used for analyzing

the employment situation in a nation. 2
OR
(1) Elaborate the need to promote women’s education in India. 3

(ii1)  Mention any two examples of diversification activities in the

non-agro processing industries. 1

Page 23 P.T.O.
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32. (%) YA UTH &1 # forqamwer 6 gy wor (Afdery-arE) Jonedt % HiE o
AT TR |
(@) “Gauam feufa #, ara S Usg § @ geed I i § e SR

Hewaqul Yt fvrt g 17
few u e w1 fifacy fag i |

33. (%) () “9Nd AR g IBMT T IO U™ & Aard, foafia & |
foRU T UR T dEwyy o |7

feu T wum 1 Sy TR g Wed Iryar FHeH Hifu |

(i) e hifoe fop, g TR Bf@ wifd 3 TR = @@ et 6
AT & THY YA B o (U YR o9 o oY &l @
I B H THFW TR 97 |
AT

(@) () “F 59k % T I8 8d & — BN IYgH W 984 o T & Th
3thSe 35| 7 |7
HN IUGH I W o 9§ 3 faug # gi-q qehl |fga fou 1w sem
<l gfee <hITT |

(i) WA SA(UH AT o I]¥F o €9 H “GHAl & A GGG h
Hawd &l 3o <hIfIU |

34. TfaRad T &1 eaHYEs A HINT

Rd § 91y q91 I YgUUT ohl & @ wiEwer fHarst 8 fed % foe
EHR A 1974 H gl YGUUT (301 s (CPCB) sl TATHT 1 | 36k o1G, TY
TR W gt qfaefe faarst & fged & fofe o= 9 -1 g a9 | 3
d1€ (CPCB) 5, a1 3R g YgUU ¥ Haled el &1 oo 1 faa
Hd 3 | I /AR T R 3cosiT & A Haid id 3 | I 98 TN
1 I TGUU o kM, FEA0 3R FHl o foiu Jrar-amet g Afet sk i
FI Tedl & g & I qehich! TERAT YGH L & | 3T i ay i
U H GUR AT B | A G H oG UGEU o FREEer g ol SR ol deiehl

N &
HAalddl HAGlH enld % |
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32. (a) State any two advantages of micro-credit system of financing in

rural areas of India. 1
(b)  “In the current situation, Information Technology plays a vital role
in achieving food security in a nation like India.”
Justify the given statement. 3
33. (a) 1) “Under the liberalisation measures taken by the Government

of India, financial sector reforms were extremely crucial.”

Reject or support the given statement with valid arguments. 3

(i1))  Clarify, how the Green Revolution enabled the government to
procure sufficient food grains to build stocks to be used during
the times of food shortages. 3

OR
(b) @) “Every coin has two sides — debate over farm subsidies is one
such classic example of the same.”
Justify the given statement with two arguments each in
favour of and against the continuation of the farm subsidies. 4

(ii)  State the importance of “Growth with equity” as the objective
of Indian economic planning. 2

34. Read the following text carefully :

In order to address two major environmental concerns in India, viz.
water and air pollution, the government set up the Central Pollution
Control Board (CPCB) in 1974. This was followed by states establishing
their own state level boards to address all the environmental concerns.
They investigate, collect and disseminate information relating to water,
air and land pollution, lay down standards for sewage/trade effluent and
emissions. These boards provide technical assistance to governments in
promoting cleanliness of streams and wells by prevention, control and
abatement of water pollution, and improve the quality of air and to
prevent, control or abate air pollution in the country.

11-58/1/2 Page 25 P.T.O.
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d SIS I 9 1Y UGNV § Hefud GEEAS hl A= 9 EUE W H @
3R TH ST I ATIIH I I Hid & | 39 (¢ o I TIR < A1e99 d
S STEehdl hUshH Hfed i & | PCB el d AUy 39l o HaeH
3R IR ¥ Fad fammae, gigar 3R Aviesie e dIr +id 3 |

e o fafEee g 9 91 TueT @ oAk hid & | aead B oI
e il srfeepifen & oM @ TS A8 3 AR § W aTet T
I 1 FE-a /g, e ok Ty Scsie 3q SUeey UM i
T T foveNor St o foT T 2 | I8 Se-¥aH Haier 9 7R sy &
T sTravae IeevfH a1 a1 TUE i i JGH T 7 |

TEuUl fREV SIE I YGNU § HEld a3 HIfeTshl TSl
Heho, HUTEH 3R faaor &wtd 8 | 3 125 Afeai (3ad 3wfeat ot wire 2),
%4, sier, @), arerE, S, ATl 31 T8l § STl i qure shi TE@ i |

feu U e 9 A= I % o aR W Efaiad geE % s AT

(%) TH Tl T gl 1 Soohg HIY Sk RO Feg wguw e &
(CPCB) ! T <l TS ofT | 1

(@) o YU fEEe 1€ (CPCB) g1 fhy S arel gl a1 sl ol
ST i | 2

() ura gr anefE fase ghfsaa @ & fag e w8 foeedi o1 oo
ST U hIfST | 3
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These boards also carry out and sponsor investigation and research
relating to problems of water and air pollution and for their prevention,
control or abatement. They organize, through mass media, a
comprehensive mass awareness programme for the same. The PCBs
prepare manuals, codes and guidelines relating to treatment and disposal
of sewage and trade effluents.

They assess the air quality through regulation of industries. In fact,
state boards, through their district level officials, periodically inspect
every industry under their jurisdiction to assess the adequacy of
treatment measures provided to treat the effluent and gaseous emissions.
It also provides background air quality data needed for industrial siting
and town planning.

The pollution control boards collect, collate and disseminate
technical and statistical data relating to water pollution. They monitor
the quality of water in 125 rivers (including the tributaries), wells, lakes,
creeks, ponds, tanks, drains and canals.

On the basis of the given text and common understanding, answer the
following questions :

(a) State any two concerns owing to which the Central Pollution
Control Board (CPCB) was established. 1

(b) Explain any two functions performed by the Central Pollution
Control Board (CPCB). 2

(c)  Elaborate any two strategies to ensure sustainable development as
adopted by India. 3
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